8. Mention the rights of widows in Indian Society.
IR oS H faganei & fusr &1 s Fwifee |

9. What are the causes of crime against women in
India ?

aRa | dfectisi & fovg oY & RO F= T ?
Section—C 2x14=28
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.

gus—d
(&d I 99)

dor .- =T S uva & SW SIfNT | 39 79 S I SAfehan
500 vr=1 § ufteifya ®ifsT) y&e 99T 14 3% 1

10. Discuss the Conflict Perspective of Social Problem.
IS THENst & Hed qRued i F=l Hitee |

11. Write an Essay on Student unrest.
BF AN W T a9 fafemn |

12. Discuss the role of education in increasing
Inequality.
ST & ghs | e w1 fier W == FwifSw)

13. Write an essay on consequences and social effects
of female foeticide.

F I YUIRC & UROTH TS ISR Y& W TH A
fafem |
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June — Examination 2023

B.S.W. (Part II) Examination

SOCIAL WORK

(Indian Social Problems : Concept,

Causes and Consequences)
Paper : SW-12

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given
instructions.

fE9r - ' yvA-uw ‘o1, ‘e’ SR ‘| 9 wvel | fawifsa ®)

TIF WIS h IR U+ & IW aIfST |
Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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QUE—3
(afa oy 3T uv)

Tff T # S NTI ST ST SW R ITAITEAR
TH 5, T o A1 Afushad 30 wissi H afiEifaa
HIL | TAF T 2 3TF F B

Define Social Problem.

TS FHE 1 qRSa iy |
What is organized crime ?
fed Ty Ry Fed © 2

Mention the various forms of domestic
violence.

W fEa & fafy= wed &1 Seora wifs |
What is the current literacy rate in India ?
IRA § M HERAT X FM 7 ?

Differentiate Organized and Unorganised
Labour.

Tfed Td eTEfed 919 & HEH ST<R whifed |
What do you mean by female foeticide ?

F YU H AT M THAd © 7

(vil) Mention any two challenges of widows.

SW—-12/4 (2)

fauanstt & @ o et fw=t < gAifaal @

I hHITSTT |
T-255
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Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

T|ugs—a
(Y A q99)

o - fF=l 9 9w & SW w9 et STl

sfererae 200 gl W OfEfga wifew ) gde e

7 3% & B

. Identify the major factors of social problems.

ISR TS % W@ HReET H Seoi@ HiTS |

. What is the biggest problem facing the youth

today ? Explain.

TS i gan Uil fhe dSI 9He & WEAT wR Gl
% 2 oo wifew

. Differentiate between Caste and Class.

Ifq Wa ol o HEF ST HITT |

. Mention the major causes of child marriage in

India.
IRA § 99 faew & 7@ RO Jasy |

. How do drugs affect a person’s social life ? Explain.

Tftett gamd, (Aes 59) e @™e & =afw & g
Ste @1 gifaa w3t § 2 fader it

. Mention the basic features of labour policy in

India.

AT ®1 o9 AT 1 gea fowremet &1 oo Hifag |
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